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Chapter 2 Review

Part A: A calculator may not be used on this part of the test.
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7.  The graph of a function 
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 is shown below.  At which values of 
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8.  
The graph of the function 
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 is shown above.  Which of the following statements is true?
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 continuous at x = 5?
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11.  What is the average rate of change of the function 
[image: image22.wmf]f

 given by 
[image: image23.wmf]10

6

2

)

(

2

+

+

=

x

x

x

f

 on the closed  

        interval [1, 5]?

12.  Given the function 
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, use the intermediate value theorem to show that the equation 
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 must have at least two solutions in the interval [-1, 4]. 

Name ____________________________





AP Calculus












Chapter 2 Review

Part B: A graphing calculator is required for some of the questions on this part of the test.

13.  Let 
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 be the function given by 
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14.  Consider 
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 when x = –4.


a) Find the slope of the curve at that point.   


b) Write the equation of the tangent line at that point.


c)  Write the equation of the normal to the curve at that point.
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